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print(Y+Y)
print("Hello world!")
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a=Y #One variable

b=2° # Another variable

print("The sum is",a+b)  # Display the sum
print("The product",a*b) # Display the product
c =b**a # New variable...

print(c) # ... that is displayed
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base = A

height =¥

area = base * height / ¥
print(area)

# print(Area) # !! Error !!
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S=1een
S=S+1+
S=S+ Y.
S=S-o.
print(S)
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o y=y-)
o y=Y*
o x=x+%*¥y
o x=V
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20,5 oolatl jlaie o 3,k 5l L print("Hi there.")
string = "Hi there."

print(string)
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from math import *
x = sqrt(Y)
print(x)

print(x**Y)
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v' angle = pi/Y

v print(angle)
v’ print(sin(angle))
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round() :# rounds to the nearest integer: round(®/%) returns 1, round()/°) returns Y.
floor() : # returns the integer less than or equal to: floor(®/%) returns °.

ceil() : # returns the integer greater than or equal to: ceil(®/1) returns 1.
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f(a, b) =a x b/ gcd(a, b)
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keywords "for" and "in"

a variable

/\ list to browse, here 0,1, 2, ..., n—1
/—\ colon

for i in range(n):

oinstruction 1 indented block of instructions

- Ty will be repeated n times

fori=0,theni=1... uptoi=n—1

bt e d

other instructions

\—— indentation
program continuation

e

for i in range(®):

print(i) > Y
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for i in range() *):

print(i*1)
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forpin [Y,V,O,V,\\,\V]:

print(p**Y)
b ggozxo Y
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s+ V+ Y+ Y+ A+
mysum = «
for i in range(Y.):

mysum = mysum + i

print(mysum)
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range() 4
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list(range() -))
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forxin[V.,Y.,Y.,¢.,0.]:
foryin[Y,V]:
print(x+y)
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